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1 3641 #AK HEA—BER vYEbY94FO9 26 BE K (A)5km EEH&Em
2 1 m —=E =Y hA'4h 33 HE K (A)5km RUFRER
3 2 MHE = 154 ERY 54 FRE K (A)5km RAl=
4 3 BmH EKX 71 h48 31 HE K (A)5km AZ
5 4 fmF EX VL3 hU8 38 HE K (A)5km REARTHEEG B
6 306 K¥E HA TAny nvb 26 & M (A)5km f2EE T
7 3216 FRZE B3 7UY7EOJY 44 R K (A)5km REAREFT
8 3224 UK =IE yVEbI¥/7T 41 BE K (A)5km GGRCEEA
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2 3100 EFH K W8 W 23 BB K (AT FEIOkm  42BISHEHERK
33177 EHAE & Y5 W 23 HE K (AEHFE1O0km 428G HEERK
4 Fik BEX b 3984 29 HE A (AW FEIOkm 42BN HEERK
5 f N = T4 K5 H 22 B A (ABHFEI1Okm  42BNIGHEERK
6 2K #H=E hn¥ 453 22 B K (AEHFEIOkm  42BMISHEERX
7 Hiz £ BENT Y1y 21 B A (ABHFEI1Okm  42BIGHEERK
8 FELE Hth IV YUY 41 BB K (AEMHFE1O0km 42BN HEERK
9 FELE Hth IV YUY 41 BB K (AEMHTE1O0km 42BN HEERK
10 A Eh 9707 1y 23 B2 K (A)ERH FiE10km REARPEL
11 A MF 7V E AT 42 B K (ABTHFEIOKkm GGRCHE
12 2l 1B 7h%h Iy 29 # A (AETHFIE10km GGRCHEA
13 #wh =R T4 4ny 30 B A (AT FE10km JNC
14 T &#¥E  vevs MR 30 BB K (AEHFE10km JNC
15 KR =— g 4% 33 B A (AT FE10km REARTHE
16 HF EKX ' SAVELL 38 B A (AWETFREIOkm  BEEAXTHEIEE
17 A WS 773% #by 35 B A AWETFFREIOkm  BEEAXTHEIEE
18 AR ME AT 0 B2 X (AETH F:E10km RBRARET
19 F& % Mz k425 33 B KX (AEHFE10km REARTHE
20 =R OBk VIR Y 3 K & (AEHFEIOkm BHAXEKX
21 A E#X B3N I hvh 24 RE K (AEHFE10km =L BER
22 he B\ A9 7YY 46 FE A (AFHFE10km GGRCHEeAX
23 18 =B 1% 3774 22 B A AWETFFREIOkm HEXKEFEL
24 Zx (Eb g/ MVED) 3 B K (AETFEIOkm REERZEX
25 @ A VIR 7) 2 X (ABHFEIOkm EEARZEX
26 £\ E 194 1y M2 B A (AETFE10km AEARK
27 SRR Y74y kR 44 BE K (A)BRTH F:E10km BEERET

— L
BF 5% (B)S5km

NO K% 7Uh'+ FE Eix (EH Bl
1 79 AE Xt DFE 44% 2 R K (B)S5km E
2 86 R = Yhq Yaun 1 R K (B)S5km - S
3 85 ==k S S| Thh7 E3Y 1 R K (B)5km - S
4 87 ot BFE YvEbLa9AM 1 BB K (B)5km o5
5 81 BRK RX 19% 19454 1 B XK (B)5km £-5
6 89 &k hiE AVTh 493 1 R XK (B)5km £
7 83 | AT 49V a9+ 1 R K (B)5km o5
8 74 AH EEB Fog" vk 1 R XK (B)5km =Y
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NO K4 7Uh't [EH] i
1 84 @k i 79Th A9Af B KX (B)EHF1E10km 25
2 82 IE HE IY'YaA9ARr BE K B)EMHFE10km £
31699 FHIAX BE  IFENHMAD BE X (B)ETH F:1#10km ERAEMS
4 1683 ¥ F=x  YWAT IIAF BE KX (B)ETHF1E10km ERAEMS
5 1684 HO = 3 31’ B2 X (B)ERTH F1E10km RAEMS
6 1686 FH kXK £34 2944 BB KX (B)ETHFE10km ERAEMFS
7 1687 FEK HRF TFIR 44% B2 X (B)ERTH F:#10km ERERRFS
8 1688 XA AKX YAhs Y4 B2 X (B)ERTH F:1#10km RERAEMS
9 1691 L% @3 9I) hAh B2 X (B)ESTHF1E10km ERAEMS
10 1666 4l FEAN T34+ avh B2 KX (B)ETHF1E10km ERAEMS
11 1685 Tt DEF 1F%3 V1Y B2 X (B)ESTH F1E10km ERAEMS
12 1669  #=HEE ) 74" ¥3In BE X (B)ERTH F:1#10km EEXERFS
13 1391 /NFE HEKER 3=y v9409 BE X BETHFEIOkm RBEAFEESS
14 1399 Rk KM 10 440 BE KX EFEHFEIOkm EAFERE
15 1394 &8 BEE V7Y )aotq B KX EEHFEIOkm EAFERE
16 1395 3EE B%L fya w47 B KX EFEHFEIOkm EAFERE
17 1396 Y@ (- fya nyk BE X EEHFEIOkm EAFRE
18 1403 48 ZE# 9y I I9Af BE X BETFEIOkMm RBEAFEES
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1 967 BIE ZE YIZ )Y e K (C)4km BHE®
2 15711 R £F YUt Yty e K (C)4km ILFgHh
3 765 LB —iE 9I) {y% B2 K (C)4km b i)
4 766 WM & Wih IVE A2 K (C)4km 1 #a h
5 964 BAR XIF IVEN ST B2 K (C)4km b iches
6 45 Wi EX vt vt B2 K (C)4km Ermh
7 1532 B KB H4h 14039 N (C)4km ERAR
8 88 faE BRIV vHA% A2 K (C)4km RE=r
9 1496 FE X#0 Fng ¥k B2 K (C)4km Hi#Eh
10 3258 AR IETE 17% ¥ana’ B2 K (C)4km ZithAC
11 815 IRA 1 H3EM DTN B2 K (C)4km Z [
12 816 ZF BE 9917 ek e K (C)4km 7 ==
13 814  BHE FIK DENVEDL e K (C)4km 77 =
14 817 f2alu H&E  79vv 44y 2 K (C)4km 7 =
15 1659 B #EX N 94 A2 K (C)4km FithEgh
16 787 i R—BER  vY Y94FO9 e K (C)4km R&ET
17 868 AR EUK T7% 194 B2 K (C)4km R&ET
18 871 INI BEYE Th AE K (C)4km K&t
19 867 Hth #3X 41h 19454 B2 K (C)4km R&EH
20 870 ¥R 2tH ~4n7 a9tq B2 K (C)4km K&t
21 872 RIE Hh4E NIUY AVE B2 K (C)4km Efrm
22 869  HEME £y VEEEVAL BE K (C)4km R&EH
23 866 EIF BE SR E YA e K (C)4km K&k
24 661 AR B 7VEb YavAh B2 K (C)4km 50
25 830 R K0 Thy ¥t e K (C)4km R B
26 969 ELE BEES  WIHIVavdan B2 K (C)4km R B
27 970  HhET FE FIF INY BE K (C)4km R B
28 843 il HE 4747 Ih e K (C)4km g8 Eh
29 834 h g w3 Thyv 44 e K (C)4km R B
30 832 1Bk BN 79Fh HARA e K (C)4km R B
31 841 KA & FhES Y2 B2 K (C)4km R B
32 494  FEH & 197 Hhy f2 [ (C)4km L {=rh
33 472 H EX 1 a4 e K (C)4km NSAC
34 444 I 1B Yhe 445y B K (C)4km NSAC
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35 323 =P ST DN Thh7 enet 1 BE
36 324 WHE BE Ih Y 1 ‘ﬁ*ﬁ i Egiitm %Ei&\ﬁqﬂ
37 325 HE WK 2Wvan w4 1 HE K (C)4km EZL—&’EEP
38 326 IUT BE Yvv4 43 1 B XK (C)4km EZE\W‘:
39 329 maF BEE ISR V) 1 B XK (C)4km Ezliﬁq:
j? 222 #ﬁﬁﬂa j,(,’;fﬁé PY AL 1 B XK (C)4km Ezligi
R OKE nafed 1 fE &%
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45 344 He B3 4+h am3an 2 e i Egim %Ziﬁq:
46 322 AR ZZX ThEd ht4 1 R K (C)4km Ezliﬁq:
47 1583 Wl R&E YYhD a9t4 2 BB K (C)4km i
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54 804  EJRE A 9INTIOH 2 HE K (C)4km qu:
55 805 R BR +hi7 45em 2 BE K (C)4km qu:
56 806 HLt BH 49T nLk 2 R XK (C)4km qu:
57 807 hft 1&F& ThLA Al 2 HE K (C)4km qu:
58 808 A E# ¥R UImARF 2 R K (C)4km qu:
59 809 hE tth Tht YRy 1 f K (C)4km qu:
60 811 AKE BEA woyan Yok 1 B K (C)4km qu:
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62 813 ff\?k iRE S L)% nyb 1 H K (C)4km qu:
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94 929 h¥ HK Th) 714 1 R K (C)4km RERFG R
95 930 #HE I}iE L34 +7 1 F K (C)4km AERPER P
96 931 IRE Bk $ha hA'Y 1 H K (C)4km RERPE[R P
97 551 IREA Bl Yha vy 2 R K (C)4km Rl %5
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99 239 EE =3 D4FA TN 3 BB K (C)4km NJAC
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102 464 EI F3 E3¥v nILE 1 B K (C)4km 5
103 451 fiRg = IOVERVE 2 R K (C)4km 5t
104 452 BEX B2 (7%hYave1 2 R K (C)4km 5t
105 453 B RE Yh 493 2 HE K (C)4km g
106 455 Wi EA Y¥7% 4 2 R XK (C)4km 5t
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115 858 by Yy antd4 2 B K (C)4km FErE
116 859 KR $hiE Th'ng 493 2 R XK (C)4km FErE
117 860 FB & 9% 194 1 R K (C)4km FERE
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4 14 @A i 918 FUvy 5 BE K (D)1km {=AMHUN Y=L
5 15 & X 9IL7 84N 4 HE K (D)1km SHELY77
6 16 N #Fnl E[W WYV B - N (D)1km BB/
7 17 £ K FIVR 44k 6 H K (D)1km KURS
8 18 W @x YYva Yns 4 HE K (D)1km KURS
9 19 WT & A2 MED) 1 R K (D)1km KURS
10 20 BT ZEX 1993034 3 HE K (D)1km KURS
11 21 PR BN EINFYI9AT 1 BB K (D)1km KURS
12 22 AE fiK #vyavansg4 3 B K (D)1km KURS
13 23 FHE |- L7%M194F 4 H K (D)1km KURS
14 24 WER Sx YIA 7ab 4 HE K (D)1km REAREREL
15 25 1818 XEA YAyh 40n 5 H K (D)1km EEHEME
16 26 FaiE = =997 Y97 6 R K (D)Tkm RyEAC
17 27 FE X2 ¥ 744 6 R K (D)Tkm RyEAC
18 28 FE BE LRV, 3 R XK (D)Tkm RyEAC
19 29 EE B 3% Yy 6 H & (D)1km KiIMJIRC
20 30 M FIKBER Hv4Yav4sOy 6 RE &K (D)1km RUNT7 Y Xk
21 31 HEE $RE hv4 493 4 HE K (D)1km RUNT7 Y Xk
22 32 & FH 7148 Y1) 3 B K (D)1km RUNT7 Y Xk
23 33 il WE  v4FA a9 6 BB K (D)1km RUNT7 Y Xk
24 34 JEe WIE O U4FA INAF 4 BB K (D)Tkm RUN7 L Rk
25 35 Gk Y7" nLv 5 H &K (D)1km RUNT7 Y X+
26 36 IH =X M8 Ly 3 BE K (D)1km RUNT7 Y Xk
27 37 R EA Ry YavAr 6 BB K (D)1km RUN7 Y Xk
28 38 RO K ¥4h49°F eat 5 H K (D)1km RUNT7 Y Xk




29 39 4$H B 1958 nb 4 R K (D)1km RUN7Z Rk
30 40 TH &KX YES 194 4 R K (D)1km RUN7 Ak
31 41 XKa —BE T4V AT 4 BE K (D)1km RUN7Z R
32 42 maF KE ZYh7 447 1 HE K (D)1km BE/

33 43 hE BZE 141K Y7 2 R XK (D)1km NJAC

34 44 L% HE 1) 193 2 R K (D)1km NJAC

35 45 EN R AVLT 17 5 R K (D)1km KURS

36 46 #ME BEX L3hz219%4 6 H K (D)1km TAY=b7-%
37 47 AR K ok ek 3 R XK (D)1km TAY=r7=%
38 48 B’ #EKX EhY am4 3 B K (D)1km TAY=FI=%
39 49 B Bk AN THA 2 R K (D)1km TAY=t7-%
40 50 WX & YE A0 3 B XK (D)Tkm TAY=k7-9
41 51 WA R TYES /1) 1 B XK (D)1km TAY=FI—9
42 52 R H— 7Fs v 3 R XK (D)1km TAY=t7-9
43 53 ME BRE 158" Y93 3 B K (D)1km TAY=t7-%
44 54 maF REE UL MENL 4 BE K (D)1km TAY=t7-%
45 55 mar &E VLT AT 2 BB K (D)1km TARY=t7-9
46 56 A FFEBER /A7 19y09 5 B K (D)Tkm TAY=p7-4
47 57 EBFt X—BR JL7 Va4FAY 3 HE K (D)1km TAY=+I=%
48 58 BA EX AhEr 74 3 R XK (D)1km TAY=t7-%
49 59 £l EH NS vy 5 BB K (D)1km TA)=t7-9
50 60 B X yRIv 1984 4 B K (D)1km TAY=p7-4
51 61 Ry PE ALY 4 2 R XK (D)1km TA)=FI=9
52 62 KEF #EX IR/ 194 5 R K (D)1km TA)—=t7-%
53 63 K RE tAh7a9a4 1 B K (D)1km F—LEE
54 64 E@ #t YIN 9% 2 B XK (D)Tkm F— LR
55 65 HHE EBEHIR VA YU)VIG 4 BE K (D)Tkm F— LR
56 66 FKH EZIE AvU4 %)Yy 2 B K (D)1km F— LR
57 67 Hd HxR 4Fh a9y 1 B K (D)Tkm F— LR
58 68 BH = 174 Fh 6 H X (D)1km BERJAC
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NO K% 7Uh't Fip Bk LEH Bl
12357 #H BE#H L% 9% 37 B K (A)3km SYSKEN
2 1 migg &6% ks 3FN 24 B K (A)3km KRCRC
3 2123 HE HEEF 4n'4 137 34 B K (A)Bkm REARHE)FTT
4 2057 M $E£BE 0 VWA IVA 35 BE K (A)3km REAR T BER
— L
ZF &K (B)3km
NO K% 7Uh't FE Ei 2 Al FilE
1 76 A XF ¥L7 7Y% 1 H K (B)3km =
2 71 N LT IYIY 3% 1 B X (B)3km T8
ZF H=E (C)3km
NO K% 7Uh't FE Eix (EH g
1 554  HEH EZE YF4 3h 1 B XK (C)3km fal
2 2141 FH It 774 7¥h 2 R XK (C)Bkm T =h
3 621 maft XA VA% 3 EE K (C)Bkm Z [
4 617 ARF A *h7 v 2 R K (C)Bkm Z
5 623 kK T th 7Y 2 HE K (C)3km Z [
6 624 =B2HE P= N7 nt 2 H K (C)Bkm 7 =
7 620 HIF HH CVEH 2 HE K (C)3km Z [
8 626 uO = YIUFNT) 2 B K (C)3km ~ [
9 616 AHB EH 144 33 2 H K (C)3km 7 =
10 618 NG RE 1YY Yuh 1 B K (C)3km Z [
11 559 K& WHHE Yh' k3 2 R K (C)Bkm &0
12 564 Bk Hf bR A 2 R K (C)3km &t
13 562  f2lE Hh{K 799 74 2 R XK (C)3km R&EH
14 560 =il K3 WHr a9 2 B K (C)3km &
15 563 Ll FAEX YyIHF T 2 B K (C)3km &0
16 688 X &5 YhEN #4975 1 R K (C)3km &
17 689 =ik &K FHh 24 1 R K (C)3km &t
18 690 IWUTF 555 TIVE 957 1 H K (C)Bkm &
19 627 kH t=E Th4 13 1 R K (C)3km fRr B
20 628 Fill BEF Thvv v% 1 B K (C)3km tRr B
21 629 X% EX w4 743 1 B K (C)3km R B
22 630 EHH ER 195 ¥k 1 f K (C)3km R B
23 631 EHE e #04° 7h 1 R K (C)3km R B
24 632 Eim FE YA 1% 1 B XK (C)3km fRr B
25 633 FE B ThY' ) 7¥% 1 BE K (C)3km R B
26 634 NIl #EE Th'm 14+ 1 R XK (C)3km R B
27 635 K INE ¥hEr InT 1 R K (C)3km R B
28 636 FBHA HNEF  A7EF T3 1 R K (C)3km R BT
29 637 TH HKE Iv) Va7 1 R K (C)3km R Bt
30 638 B EE YN 140 1 B XK (C)3km R B
31 639 S AE 1347 17 1 R XK (C)3km Ry BT
32 640  {FL KW $hty 1t 1 HE K (C)3km R B
33 641 % HFE w48 nILh 1 HE K (C)3km Ry BT
34 2 HE 1&7 Y9V 19) 2 R K (C)3km R B
35 444 FEK BE YhEN 374 2 t& [ (C)Bkm L{-h
36 932 IEK kB YhEF VAT 1 B E (C)Bkm L{=dh
37 231 HE & txr% 34 1 R K (C)3km mEEESP
38 226 A 1EF ThEb €42 2 B K (C)Bkm AEEESP
39 230 B U= AhnY £t4 2 R K (C)3km mAEEESP
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40 252 WK ER vYEh YEA 2 B K (C)3km mAeEmsf
41 253 R BE A= vFn 2 BE K (C)Bkm maEmp
42 1088 O 174 77 2 B K (C)Bkm HEEFYth
43 1089 t#EHE EF P MRy 2 R K (C)3km HEEFYth
44 1177 B EE Thh7 1948 1 HE K (C)3km HFYth
45 533  #FHE BKER )4 4% 2 R K (C)Bkm hES
46 725 T =85 Y4 31 1 B XK (C)3km HEH
47 603 BE EM MV 3F 2 f K (C)Bkm g
48 605 EME IhE b34" 133 2 R XK (C)3km L &
49 606 Gl ER MYE LD 2 BB K (C)3km EINes
50 608 FHH [HMA EZ oK 2 R K (C)3km L
51 609 B85 EiE 7993 hik 2 R XK (C)Bkm 1l th
52 611 A = 155 )y 1 B K (C)Bkm IS
53 612 HE TR 4)9I1 N3 1 f K (C)3km L
54 613  HE EBE EVVAVE 1 F K (C)3km EINes
55 614 28 XL 4/nt 13 1 B XK (C)3km Bl ch
56 615 E& BE DaFA AVE 1 BB K (C)3km Gl
57 582  1EMA #H{E Yh4% ®Ih 3 H K (C)3km b &R eh
58 583 1EM HIE h4% ®8h 3 EE K (C)Bkm &R
59 581 TE Kb an #4937 3 R XK (C)3km &R
60 587 R OHE ERY Jun 2 B K (C)Bkm &=
61 594 {BF MK 7947 ¥4 1 H K (C)3km &R
62 199 MR == YEN THA 2 R K (C)Bkm &%

63 206 HRA #HF 7Y b Eh3 1 B XK (C)Bkm &E

64 439 AH Ft woa v Fy 1 F K (C)Bkm Ay Aas!
65 681 AR EA hN 1 F K (C)3km Hi oK &
66 507 TIE th¥ IY'7 197 2 R K (C)3km sIE
67 691 E@m = 04" 3t 2 HE K (C)3km LR h
68 1030 1A KiE Yh4% L47 1 R K (C)3km LR
69 692 AE FEME YA/ kIh 1 HE K (C)3km PN
70 506 BK 3 NEP 3F 1 B XK (C)Bkm LR
71 1281  [RE £ZE N8 39 1 R K (C)3km Bt
72 565 FH A E7% 1'% 3 HE XK (C)3km mEE
73 575  Fk HE THh $y 2 B K (C)3km mEEG
74 577 BH Uil 4hty 4 2 B XK (C)3km W&
75 578 FH ¥E E74 #¥h 2 B XK (C)3km mEsh
76 786 FEH H#bB E34 IFN 1 HE K (C)3km mEEd
77 520 me = N )Y 2 R K (C)3km T 2k R
78 522 EEY #EIFE 97/ 1rT 2 R XK (C)Bkm T 3 R
79 523 h¥ X5 +h/ 32 2 f K (C)Bkm T
80 746 NI BAZE I NTT 1 R K (C)3km T ZE R
81 749  ¥EII =7 RYT 2/ 1 R K (C)Bkm T &R
82 757 IO #E I7'F 1t 2 R K (C)Bkm REARPE[R G
83 756 K&t =& ¥47 37 2 R K (C)Bkm REARTE[R
84 758  KR#t #F ¥47 141 2 R K (C)3km REARPER$
85 755 1FK #E YhEh 4 2 R K (C)3km RERFE R P
86 759 tkik BB by A 1 R K (C)Bkm RERPERE P
87 760 HE EX ES L 1 HE K (C)Bkm REARTEIR b
88 761 =8 F= IVNA FER 1 R K (C)3km REARFERE P
89 752  KIU Ex *vv 1971 3 R K (C)3km REARPER$
90 1067  ZRKWALTHEE 7h3 K /h 2 R K (C)3km A
91 296 F Wt ) $v T 1 HE K (C)3km 5t
92 298 o B85 Y¥9°F a3 1 f K (C)Bkm 5
93 299  XIU FHi TAvv ) 1 B K (C)3km 5
94 300 KH HE M4 EOR 1 HE K (C)Bkm et
95 290 XKHE #E¥ A¥oaqr 2 BB XK (C)3km g
96 292 R %K YR EAE 2 R XK (C)Bkm g
97 294 HHE #T Y3 TYE 2 R K (C)3km 5
98 3205 #E {EHKF Lh3% h3aa 2 B K (C)3km TAY=FI—%

KNOD—KR IR TSV EBRDADAHEEBTEMBNLET  RITRITBT ZITER-TS
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99 3435  FhL ERZk TEYY Hh32 1 R K (C)3km TAY=t7-%
100 3444 Al Bl hoy'T A 1 HE K (C)3km TAY=k7-9
101 663 FHA EE 34 EAh 2 R K (C)Bkm FERE
102 664  ATH #IR L343 %t 2 R K (C)3km FERE
103 775 {F& =T 4b 3kt 1 HE K (C)Bkm FErE
104 776 RE #0F 14V IhT 1 R K (C)3km FErE
105 1232 ik B vEOURIL) 1 H K (C)3km KIR—rh
106 346 RN 7% 74Y 1 HE K (C)3km —NEHF
Z¥+ /ME (D)1km
NO K% 7Uh+ FE B (EH g
1 3 BIE @ YIY 7Y 3 R K (D)1km B&E /M
2 4 WE R ) M 3 R K (D)1km ACTEE
3 5 PEEH FZE YF4" )T 5 f K (D)1km fal|/h
4 6 BaX E£X 7% 13 6 F K (D)1km SHEELEYI77
5 7 R 1K E5Eh 1h 5 H K (D)1km SFEL)F7
6 8 EXR TE E3E N 4 HE K (D)1km SHELY77
7 9 & = 9IL7 ¥t 3 R XK (D)1km SikELY77
8 10 =k B Ve ORbs 4 HE K (D)1km IKIREE— I
9 11 SE LHF 13% 473 5 H &K (D)1km KURS
10 12 SEB EEF 13¥ hHa 3 B K (D)1km KURS
11 13 BT BE 17948 4+ 6 R K (D)Tkm KURS
12 14 H&E &®HTE N7 /)h 3 R K (D)1km KURS
13 15 EE OER ¥34 31 5 R XK (D)1km KURS
14 16 g ER #4°% 39 5 R XK (D)1km KURS
15 17 &RE YE#EH T4h 1k 4 R K (D)Tkm KURS
16 18 HE =V, 2 R K (D)1km KURS
17 19 R TAE V77 +1h 4 B K (D)1km REARER[EL
18 20 R EZR 7y0719F 6 R K (D)1km REARER[EL
19 21 FfE EE ThI WAy 6 R K (D)Tkm RyEAC
20 22 FaiE e =Y97 N 6 R K (D)Tkm RyEAC
21 23 o =Y97 14 2 R K (D)Tkm RyEAC
22 24 il B8 ~Yh9 1Y 6 F K (D)1km £IMJIRC
23 25 FE Zi Thyv 747+ 4 HE K (D)1km KiMJIRC
24 26 He IHiE 41h X% 4 R K (D)Tkm RUN7 L Rk
25 27 kA tE Yh9'F ++ 3 R K (D)1km RUNT7 Y Xk
26 28 HIE EHE 43 Luh 6 H K (D)1km RUNT7 Y Xk
27 29 =@ A IRI TN 5 H K (D)1km RUNT7 Y Xk
28 30 L3 B 99N HE 4 HE K (D)1km RUN7 S Xk
29 31 HE #3% )91 992 2 R XK (D)1km RUN7 S Xk
30 32 isE S =SS —YLh7 %% 3 R K (D)1km B&E /N
31 33 thE AH 14Ky 747 4 HE K (D)1km NJAC
32 34 P 1594 397 4 HE K (D)1km NJAC
33 35 A ] YIEN I 4 HE K (D)1km NJAC
34 36 mH FF FhLAT anL 4 BE K (D)1km NJAC
35 37 EE2 EKR D4FA" ab 6 H K (D)1km NJAC
36 38 @A FB 9I4 %3/ 6 H & (D)1km REAREELE
37 39 1% L1415 X4/ L47 5 H K (D)1km ZFERC
38 40 =mE FT= 7997 FtA 5 B K (D)Tkm RyEAC
39 41 FE = INERIV, 2 FE K (D)1km TAY=r7=9
40 42 HER IHC " a3 5 R XK (D)1km TR)—=r7=9
41 43 A+t BEiE ¥L7 vEn 6 H & (D)1km TAY—=r7=%
42 44 thE & 11§y % 6 H K (D)1km TAY=FI=%
43 45 RE E Fhv 1)y 4 HE K (D)1km TAY—=r7=%
44 46 FL = E7vY $1 1 HE K (D)1km B
45 47 mno #hE hrF 4t 4 R K (D)Tkm F—LEKE
46 48 LEXB EHA hors 1% 4 R K (D)Tkm F— LK
47 49 EH #F VA ES 4 R K (D)1km F— L
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48 50 % A 4N+ TR 6 BE K (D)1km AEARJAC
49 51 KIRR B A49hvT7y¥a 3 B K (D)1km BEARJAC
I-.-I 5
BEEHE Sme’E

NO K% 7Uh't FE Ei&x (EF Bl
1 3207 HBA sh Y71y % 44 FE K (A)EBH FE10km KRBT
2 967 BIE Z YIg WYy 2 HE XK (C)4km BEH
3 1532 3% kiR 40 14%39 1 HE K (C)4km EEART
4 88 BE BE V% LAk 2 BB K (C)4km mEZ=%h
51496 FJ/E X0 Fng vk 2 HE XK (C)4km SEp:: 1=
6 661 A BE  JVEhvavAr 3 BE K (C)4km Ex[G
7 834 B H‘IY ThyY 448 2 H K (C)4km R BT
8 832 fBK BN 79N H4AF 1 B XK (C)4km R B
9 323 ==F S I WN FhL EOEd 1 BE K (C)4km mAaEREH
10 324 wE = YIh Y 1 R K (C)4km AaEREH
11 325 HFE BK 737 4 1 R K (C)4km mAaEREH
12 326 LT BE YIva 47 1 HE K (C)4km mAaEmE
13 329  @BF BIE YLy 1 BE K (C)4km mAaEmE
14 330 #H RE DPL IRk 1 HE K (C)4km mAaEmE
15 334 N N7 4444 1 R XK (C)4km BEEESD
16 449 TH = YEASIHIY 1 BE K (C)4km mAaEm$
17 342 KK f@iE ALTH PEF 2 B K (C)4km AEEET
18 343 Rk @Rk  AITHMEF) 2 B K (C)4km AaEREH
19 344 Ho EF 4+h 2939 2 R XK (C)4km mAEEET
20 322 A ZEX theh A% 1 B K (C)4km mAaEm$
21 1583 Il R&E Y¥ADaot4 2 BB K (C)4km XEHFHH
22 1333 F 3K T 74 2 R K (C)4km HIFYdh
23 335 b7 e T $h4 Fooy 1 B K (C)4km mAaEm$
24 728 AR |A Y1t vib 2 H K (C)4km H&EH
25 886 Ef B NALZ D3 1 R K (C)4km H&EH
26 903 ERB B huA7 Fuvy 2 B K (C)4km BEH
27 239 g2 =3 D4FA TXF 3 BE K (C)4km NJAC
28 3201 #BAK &3 NEM LB 3 HE XK (C)4km TAY=FI=4
29 3438 - N NER )37 1 HE K (C)4km TAY=FI=%
30 3437 B’ KHE EN'Y 44F 1 B XK (C)4km TAY=FI—%
31 854 I FEE t3/ 493 2 B K (C)4km BEms
32 855  HilZ EBX VI a4 2 R K (C)4km EEm
33 857 A =E Th'a van 2 R K (C)4km B
34 858 B [EE Y9I ant4 2 RE K (C)4km B
35 859 KR #hiE Th'ng 4893 2 B K (C)4km B
36 860 TE f&iH E39v 194 1 HE K (C)4km BEms
37 861 TR BE TA¥ 194 1 EE K (C)4km EEm
38 862 KR XiE Thn784% 1 B K (C)4km BEms
39 1513 £ H #= h38 9% 2 HE K (C)4km KIF—h
40 13 WHE #X Y8 hua 1 R XK (D)1km WEkELEY77
41 14 rE #0 918 hyyy 5 BE K (D)1km {=AMHUN =LA
42 17 B2 K FIYR 44b 6 H K (D)1km KURS
43 20 BT ZEX 19%% )as 3 HE K (D)1km KURS
44 21 AR BN 'BN7 UIAF 1 B K (D)1km KURS
45 26 il Z= =997 97 6 R K (D)Tkm RyEAC
46 27 FE X2 ¥ 744 6 R K (D)Tkm RyEAC
47 28 FE BKE LAWY, 3 R XK (D)Tkm RyEAC
48 32 E FH 7714 vay 3 R K (D)1km RUNT7 Y Xk
49 38 RO K Yh9'F enb 5 HE K (D)1km RUNT7 Y Xk
50 41 XKG —BE T4y hA'v 4 B K (D)1km RUNT7 Y Xk
51 43 thEe BZE 141K Y7 2 R K (D)1km NJAC
52 44 L% HE 91/ 197 2 R K (D)1km NJAC
53 45 T Ivh7 414) 5 B K (D)1km KURS
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54 46 ME BEX L3hz19%4 6 H K (D)1km TAY=t7-%
55 48 B’ OEKX EhY a94 3 B K (D)1km TAY=FI=9
56 50 WX & YE A0 3 B XK (D)Tkm TAY=k7-9
57 51 WA (FiE TYES /1) 1 HE K (D)1km TAY=FI—%
58 52 R Hm— 7FH3 v 3 R XK (D)1km TAY=r7-9
59 53 ME BRE 158" Y93 3 B K (D)1km TAU=t7=%
60 54 maF REE UL N 4 BE K (D)1km TAY=t7-%
61 55 mar &E VLT AT 2 BB K (D)1km TAY=r7-9
62 59 £l EH NS a9y 5 BB K (D)1km TAY=t7=9
63 62 KE #X IR/ 194 5 R K (D)1km TA)=r7=9
64 63 K RE tAh7a9a4 1 B K (D)1km F—LEE
65 64 E@ #t YIN A9% 2 B XK (D)Tkm F— LR
66 65 HHE TR AMVUE YUIVIT 4 BE K (D)Tkm F— LR
67 66 KA EZIE svUY %)Yy 2 B K (D)1km F— LR
68 67 Hd AR 41h a9Ar 1 FE K (D)Tkm F—LHKE
69 2141 FH ¥t 774 T¥h 2 R K (C)3km 5=
70 636 BEAXR MNEF  A7E hF3 1 B XK (C)Bkm R R
71 637 T K= v/ Va7 1 HE K (C)3km R B
72 638 B EE YNE 245 1 B K (C)Bkm R B
73 639 S% HE 13L7 17t 1 R K (C)3km R B
74 640 IR KM $hty 1t 1 R K (C)3km R B
75 641 g HFE w8 nLh 1 R XK (C)Bkm R R
76 231 HE =& ERY 1 F K (C)3km mEEmEP
77 226 AR fEF AhEd 42 2 B K (C)Bkm mAEEmP
78 230 EIE UHT- ShnY T4 2 R XK (C)3km mEaEmP
79 252 HMAK EXR vYEh YEA 2 B K (C)Bkm HEEESD
80 253 Y BE Th4= 3n 2 B K (C)3Bkm itk =gt A=)
81 1088 M W 174 ¥77 2 B XK (C)Bkm HEEFEYth
82 1089 #&H EZ DA% 1T 2 R XK (C)Bkm HEFYdh
83 1177 oh#t EE ThhZ 1948 1 HE K (C)3km HEEFYth
84 533  FHE BXHEB )4 4% 2 R K (C)3km hES
85 725 T =55 Yy 31 1 F K (C)Bkm HEH
86 3205 #fE {EHKF Lh3 h3aa 2 HE K (C)3km TAY=FI—%
87 663 EME HEE 34 bt 2 R K (C)Bkm FERE
88 664  FH I L% %t 2 R K (C)3km FERE
89 715 Rk ET Ab ab% 1 HE K (C)3km FErE
90 776 RE = 14°% 7ht 1 R K (C)Bkm FErE
91 1232 Xk B H4by 1 H K (C)Bkm KIER—rh
92 346 WK EF b 74Y 1 HE K (C)3km —DEHF
93 3 BiEA B YIY Y 3 R XK (D)1km BE/
94 10 Ek B YA+ UYF 4 B K (D)1km KEREE—/
95 13 B2F BE 19948 ¥4+ 6 K K (D)1km KURS
96 14 MR HBE TN /% 3 H K (D)1km KURS
97 15 EHE OEH ¥34 z:a 5 R XK (D)1km KURS
98 16 Zl ER 4% 39 5 R K (D)1km KURS
99 17 &TEH HYBEF T4h 1) 4 R K (D)1km KURS
100 18 HE # &, EV] 2 R K (D)1km KURS
101 21 hRE EE Thv Y4y 6 R K (D)1km Ry HEAC
102 22 i e =997 nt 6 HE K (D)Tkm KrEAC
103 23 icp- i =Y97 14 2 R K (D)Tkm KRrEAC
104 27 kO t3 Yh9'F 1 3 B K (D)1Tkm RUN7 X
105 28 HIE =% 43 Luh 6 H K (D)Tkm RUN7 L Rk
106 29 =f@ EHE A3 Thn 5 B XK (D)Tkm RUN7 L Rk
107 30 +F B Y'Y 4+ 4 B K (D)1km RUNZ S Xk
108 33 hE ASE 141K 347 4 HE K (D)1km NJAC
109 34 MF EE 1594 397 4 R K (D)1km NJAC
110 35 WA EH] YYEN I 4 R K (D)1km NJAC
111 36 HFr FF FhhT a4 BE K (D)1km NJAC
112 37 B2 ER D4FA" ab 6 H & (D)1km NJAC




113 39 1% L1435 47 L43 5 R XK (D)1km ZRERC
114 40 =E = 7993 Fem 5 HE K (D)1km RyHEAC
115 41 A = INERIV 2 R XK (D)1km TAY=r7-9
116 43 A EE ¥47 vER 6 HE K (D)1Tkm TAY=k7-9
117 44 thE & 141 % 6 R XK (D)1km TAY=FI—%
118 45 WL = Fhv 1)y 4 R K (D)1km TAY=t7=%
119 47 mo g hITF ¥t 4 R K (D)Tkm F— LR
120 48 LEX(XB EA hor7 $9% 4 R K (D)Tkm F— LR
121 49 EH #F YN & 4 R K (D)1km F— LR
122 50 e 4FN+ TR 6 HE K (D)1km AEARJAC
123 51 KR B At¥hy7oya 3 BB K (D)1km BEARJAC
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